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HWRRBENETHEEXEBEBEXERENESN, HAEY
EXBTEAR-—BERERAXENRE, AXEHRHE M L5
B, fENEEEESFE. ¥ANREFRE .

A This passage mainly deals with

A\ The passage is mainly about

A\ The main idea of the passage is

/\ The passage mainly tells us
A\ The best title for this passage is

/A What does the passage mainly tell us?

A Which of the following best summarizes the main idea of
the passage?

EREXRRER, REBARNIERERE X ERBE
MEET, BREEAEET XERKBEENTEEE, ERFS
XREBNBRERNEL, NYBHOE, TEANLELER
W, —BUTXERBRENTFL, BENUMTFRIRBE.
&1

Shopping for clothes is not the same experience for a man as
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it is for a woman. A man goes shopping because he needs
something. His purpose is settled and decided in advance. He
knows what he wants, and his aim is to find it and buy it; the
price is a secondary consideration. All men simply walk into a
shop and ask the assistant for what they want. The job can be
and often is completed in less than five minutes, with hardly any
small talk to everyone’s satisfaction.

Now how does a woman go about buying clothes? In almost
every respect she does so in the opposite way. Her shopping is
not often based on need. She has never fully made up her mind
what she wants, and she is only “having a look round”. She will
try on any number of thing. The most important thing in her
mind is the thought of finding something that everyone thinks
suits her. Most women have an excellent sense of value when
they buy clothes. They are always ready for the unexpected
bargain. Faced with a roomful of dresses, a woman may easily
spend an hour going from one shelf to another, before selecting
the dresses she wants to try on. It is a long and hard job, but
obviously one to be enjoyed. Most dress shops provide chairs for
the waiting husbands.

FXERREBUHES LU ZEERYE A F S (Difference
between male and female shoppers), % —4]BIZ|H TXENT
B, XTFREKRBIBEE— S BFSRAPEH, AT —
EEH. 2XRABHEX—FERF, BRT - —. MM
Bk,

WERUNE, HEFFHXERE PR EEA. X
THEXEFBRBOMESE, BERELEFRL TR, 8
EXFRGEMELIAYHTERMBLE.
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It's no wonder that we have so many rejections for physical
reasons in our Selective Service. Since October of 1948, some
million young men have been examined for military duty. Of
these, more than a million were rejected as physically unfit for
military service. To get two men today, the United States Army
must call seven men. Of the five rejected three are turned down
for physical reasons and two for mental problems. To get the
196 thousand additional men we needed for Berlin, the
government had to call up 750 thousand men. And the rejection
rate is increasing each year. The reason for this problem is that
we are underexercised as a nation. We look, instead of play. We
ride, instead of walk. The way we live prevents us from being
healthy.

EXHRRE—NEXL, B FEEEAHFERRRSHT
AREREAMR . &F, &SI ARENX —ERHET T30
B, FERERA SRR ERERY. BE, FEEHT
ERX—-FRANBRENER - ——XEERRT 5K EF. 24X
HAE—ITHRHEEN, FEREEERLBEMAETERTH
i 845, B The rejection rate for physical reason is increasing
because this nation’s lack of exercise is leading to poor health.

GERR, WFERERBREL, —M5RELT 8.

A RBERRENR L X, FREBELSIRNBSHEEA,

A FRXERRANEEA, B E S 025508 506 R A
ZEEN.

ABRT BTSN, FEXERHE THB, HUBEFHEE
XEMEBRRAE., A, M- SXEOTRML, EEBF+
TEE.
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ANFREBAME, BENE EBIELXHFSEHE
ERIHEEAFRER, RAEHIBAFTNESBIE— RIS
RAESE. BEEXEWRE, AN EERE mH S HsR &
MAE, BARBAK, KZEZ, AABAD, REREXEAEH
—Him.

2. MY M

fEEXENTEREMRCEN X, AULERRULE. &
M EBLXHAE. (KR MHERERBHHE KERE:
THRUEATZENEIMAYN. CREBU, RITFTEE, BT
MEXEHEEMAESI, ELAFEEXFH—LEEHELAN
4.

WX 5B RBRAE RIS YK, BRY
AERHEY . 5, XRBWEYRATRETETH, HS
£l when, who, what, why, how &5 [RliEFF L, Min.

A\ What causes *+*?

A\ Sb. does sth. because +-+?

A\ Why does sb. do sth?

A Which of the following best summarizes the main feature
of +==9

A\ Where in the passage does the author describe +++?

A According to the passage, which of the following
statements is true?

A All of the following is true EXCEPT

£\ Which of the following is mentioned/not mentioned?

A Which of the following is not a result of +++?

REBKFEBREAFRER, BHE—KDRERMY, . 5F
FIAFHRAE, BER-—BYTEXEREERD,

BEREEX—-REEH, BENEERESY. ¥EXELY
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DRERNFER L, & AR A, B8P iE) R R R
REUEAERR, ZHREDFHBEEXEFIRHAXRNELSH
T, FHERPAFFHARE R, ATRIENZFLRAHH
EHRER, BREREERER.

B3

Some Japanese still get married by parents’ arrangement.
Yoshio and Hiromi Tanaka, a young Japanese couple living in
the United States, told the story of their arranged marriage.
“We didn't marry for love in the Western sense. We got married
in the traditional Japanese way. Qur parents arranged our
marriage through a matchmaker (# A ). In Japan we believe that
marriage is something affecting the whole family rather than a
matter concerning only the young couple. So we think it is very
important to match people according to their social background,
education and so on. When our parents thought it was time for
us to get married, they went to a local matchmaker and asked
her for some suggestions. We discussed the details and looked at
the photos she sent, and then our parents asked her to arrange a
‘marriage interview’ for the two of us”.

A Japanese marriage interview is held in a public place, such
as a hotel or a restaurant, and is attended by the boy and the
girl, their parents and the matchmaker. Information about the
couple and their families is exchanged over a cup of tea or a
meal. Then the boy and the girl are left alone for a short time to
get to know each other. When they return home they have to tell
the matchmaker whether they want to meet again or not.

Yoshio continued, “When our parents realized we were

serious about each other, they started to make arrangements for
6



our wedding. My family paid the marriage money to Hiromi's.
This is money to help pay for the wedding ceremony and for
setting up the house afterwards. We also gave her family a
beautiful ornament (3 i &) to put in the best room of their
house, so everyone knew that Hiromi was going to marry”.
1. According to the passage, some Japanese parents think of
their children’s marriage as
A. a private affair of their children.
B. an important matter having influence on the whole family.
C. an opportunity to show their wealth and social positions.
D. an opportunity to show their love for children.
2. Which of the following is not a role played by the match-
maker?
A. Providing the information the families need.
B. Arranging the marriage interview.
C. Attending the marriage interview.
D. Making arrangements for the wedding.
3. Which of the following statements is true?
A. Most Japanese still get married by parents’ arrangement.
B. Parents’ attitude plays the most important role in the
traditional Japanese way of marriage.
C. Wedding is arranged when the young couple are sincere
about their rélation.
D. The matchmaker is usuvally paid in traditional Japanese
marriages.
FXHZB. F-BRREANAZRERSBEOSE
— BEANRERBRAZAMHRE, EXBELNYHRERS
FEER., BEH-BREBEUFERXGRBEANZHT 0
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EREL TI TR T .
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L. B. ZEH—-BEAGEEEANNGERE I REWNA
RENERBANERE.

2. D. F—EBRAFARBRBLVNS ZEFBELHIEL
WA EHEE, B_BRE-ARIAEASEHEZIR, F=EN
RALBHITFLELEBE. BWMBR, BANACHIQERE
BE—IN,

3. C.ARB=BHB—AE. A GXRE-ALH,.BEHE K
¥, DEXFRRES.

FLEAFBHEBRELTARFTZEAXFTFRENGEFR,
FLEETERBACHENBREIEMNREEACTHRA. &
WRRERE
Bil4

Suppose you work in a library, checking people’s books as
they leave, and a friend asks you to let him steal a hard-to-find
reference book that he wants to own.

You might hesitate to agree for various reasons. You might
be afraid that he'll be caught, and that both you and he will then
get into trouble. You might want the book to stay in the library
so that you can read it yourself.

But you may also think that what he proposes is wrong—
that he shouldn’t do it and you shouldn’t help him. If you think
that, what does it mean, and what, if anything, makes it true?

To say it's wrong is not just to say it's against the rules.
There can be bad rules which stop what isn’'t wrong—like a
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company rule against criticizing the boss. A rule can also be bad
because it requires something that is wrong—like a law that
looks down upon black people in hotels and restaurants. The
ideas of wrong and right are different from the ideas of what is
and what is not against the rules.

If you think it would be wrong to help your friend steal the
book, then you will feel uncomfortable about doing it: in some
way you won't want to do it, even if you are also unwilling to
refuse to help a friend. Where does the desire not to do it come
from? What is its motive behind it?

There are various ways in which something can be wrong,
but in this case, if you had to explain it, you'd probably say that
it would be unfair to other users of the library. They may be just
as interested in the book as your friend is, but read it in the
reference room, where anyone who needs it can find it.

These thoughts have to do with effects on others—not
necessarily effects on their feelings, since they may never find
out about it, but some kind of damage. In general, the thought
that something is wrong depends on its impact not just on the
person who does it but on other people.

1. Which of the following is not a reason why the librarian does
not want to help his friend?
A. He is afraid that he himself might get into trouble.
B. He is afraid that his friend might get into trouble.
C. He believes it is wrong to help his friend.
D. He might want to read the book himself.
2. Why does the author give some examples of bad rules?
A. Because he wants to support the argument that stealing a
9



book is not a crime.

w

Because he wants to show how bad some rules are.
C. Because those rules are made in order to stop what is
right.
D. Because he wants to show rules are not the criteria for
judging right or wrong.
3. According to the passage, the author would judge what is
wrong
A. by what is or is not against the rules.
B. by the kind of damage it does to others.
C. by his thoughts and feelings.
D. by the attitude of the people around him.
R
1. C, BEREF_BRPITLIESD,
2. D. BEREBAERNE.
3. B. REXBRE—4,
3. FlMHitA
(R BREACERNENANERERFTEXENFEEE
B, RRERFETEM B BT SR WAL, ETMERE
BENBAMERNE X,
FIB LB EELEREAM X ENBREE, REWREEE
REER AL EENBR. IXREEAOEAELRE .
A Tt can be inferred from the passage that
A We can infer from the passage that
A Which of the following can be inferred from the passage?
A Tt can be concluded from passage that
A The passage implies/suggests that

A\ This passage is most probably taken from
10



